1058 F F FEBIZEREKR(

—
x4

TR
SR AEl : BRES 2

b4
EE — — = if bl = — — = s pil
£ 1/9 1/10 1/11 1/12 1/13 £_8 1/16 1/17 1/18 1/19 1/20
0800 0800
1] = 1 =
0850 0850
0900 0900
21 = 2| =
0950 0950
1000 1000
3| & 3| &
1050 1050
1100 1100
4| = 41 =
1150 1150
1240 THE  |1THE  |1THE  [THE 1240 THE  |1THE
50 % HBE BRBE |BRBE |KBE2 50 % BBE |BEBE
1330 1330
1340 THE  |1THEB  |TTHER (T2 1340 THE  |1THE
6| = BBEE BEBE |BRBE |BB2 6| = BBE |EREE
1430 1430
1440 THE  |1THE  |1THE  |(THE 1440 THE  |1THE
71 HBE BRBE |BRBE |BBE2 71 HEBE |BBE
1530 1530
1540 THE |72 |TTHEB  [1THE 1540 THE  |1THE
8| = BBEE BEBEE |BRBE |BB2 8| = BBE |BE2
1630 1630
e — — = id bl =g — — = if bl
FE=8 1/23 1/24 1/25 A 2/6 2/7 2/8 2/9 2/10
0800 0800
1] = 1 =
0850 0850
0900 0900
21 = 2| =
0950 0950
1000 1000
3| = 3|
1050 1050
1100 1100
41 = 41 =
1150 1150
1240 THE |1THE 1240 1TEHER
51 = BBE |BREZ 5| BRRs 2
1330 1330
1340 THE  |1THE 1340 1TIHER
6| = HEBE |BEBE 6| = B2
1430 1430
1540 THE  |1THE 1540 TTEHER
71 E BBE |BEE 71 = BRRs 2
1630 1630
1540 THE  |1THE 1540 1TEHER
8| = HEBE |BBE2 8| = BB E
1630 1630

it LBRE—XEZRH4ER -
2.106/01/26-106/02/05&F A L%

REEEHSHAMENESBNEE




